EARAROBEEIERT — 2 N— IBISH —F

20185108210 (B) 14E1AE6H

E=se co vS3ame

(xwlw | lmEmml - |5 5) wom 8

[AE£] 1 7% :220,000  ~ 237&:66,000 ™  337%&:22,000H ~ 43%&:13,000 ™ ~ 57 :9,000H

BB mEBR Mk ME BF (&) 4L (&%) | BBIEG | EOF |SIEH | AR | HE | NG FIR) / BE / £EHS
- =« BEmth :29. —2-2- . — Z/EEN (EE)
1 3| AT A=ITR o 56.0 1(2_9)9 rze | 385 ! 327) t,%;%\& .
R:AVFH YL IR BiA)ALA YA b N L4505
N 4 5 | FERES 1:30.4 5-5-3-2 | 38.5| — 2 438 | BBITIE (1EH)
6| VT L 54.0 2172 o |BEEE
LNnN=vI774 B:Xx7OF1I—F LERS
HPEA : —6-6- — AR—X (E8)
3 o lEAUA LT i 4 54_0L 1.(341).1 6-6-6-4 | 38.5 5 <4+835) i (E=®
L7 %X I B:YvyskeTTY HEE f5—
= ] N _ = 3
dl1l1BReFy T 4 2%%’*— 1.(321).5 1-1-1-3 | 40.1 4 (4;145) Egﬁfﬁ (=8)
R:FHVYYT7rX8 B:EYRZAVY =i BB
< maEK :31. ~4-5- . — KIEHK (£E)
5 4| V3FRI-Z b it 4 e 1(321)9 4-4-5-6 | 39.5 6 (4;6) o "
LNn—ErTr— BILIFIN=/N— HET77— L
_y_= # 5 | NSHE 1:32.2 3-3-4-5 |40.3| — 3 | 456 | LFRERE (1£E)
68|52 YA 54.0 (1'1/2) o | EEER
L:xF1=Ty—X B:FXILNYaTyH— XP @A
. N AT . —7-7- - HEEHEE (£5)
7177 A4S 99X T 4 6 oe 1.(353.9 7-7-7-7 | 40.9 7 ;1_534) %ﬁﬁ (5
RiAAagyLvy B:o29747Ya34 iy —F
@ 1 — S —EBIEf
13—7+— 1,3,56,4,6,2,7
2= = 1,3,5,4,6,2,7
Jol=5r= 1,3,6,5,4,2,7
43—F— 3,6,1,2,5,4,7
[ N3
BB 3 1604 74K 3-6 120H B & 3-6 160H 3EHE 2-3-6 390M
8 B 3 1004 =3 230M B E 3-6 260M K31 3-6-2 1,280M
6 140/ 2-6 340M

ABICOVWTRDTEEERROODE. TR LIV,




